; 1
@ Corre loniow [ Covaviauce  Fovuwulo U

o The covvelotion ol X oud Y & ehe nuwther de €iued bd:

Cov (%,Y)
x \]

0 Piove gyt ‘7\)mf_ax-qu] = az'\lcw(.x]i- pruv(W]-FQaﬂCé»'(X;\i)

——

® Tue mean o aX+py s Efaxepyl= aEfxi+pilyl

EE Laxspd ]= apx+Bphy

Tuus, we Moy write tubt:
Var LaX+py = 2 [((aX+pV ) -ELax ﬂw‘]f) -

= E{( (aXﬂwS-(ayﬂBﬂ\,‘s)z.} =
E[{:Q( K=Px) +p v-}a.,)'}z] =

L 2 7 *t |
E[a (X-pP)+p (Y “P4) 'i-aap(x-y‘)(v-pq\]
_ O?\E S‘(x-};xf]+ﬁzf[(4~y;}]+
+RapE[(K~h)N-h)]=

= & Var £x)+ FUav [y 1+ 2ap Cov € %,41




Lf'_z.\

@ FO"( au& TQV\JGM VQn‘ab('eS. X aud \{)

Qo ~L5P, ¢+

(£ iPx.‘\z L if snal only '€ tlere exist nuwbevs atQ
aud b, sudh that ﬁ(\/:q)(—i-ﬂ):_‘_\_o
L Py=1, thgu a>o0,

1”‘ ij:-l, éhw Q «me
© Cowalley WL Qxpvessiow:

hit) = E[{( X-px )t + (v-p,)'}a] -

- a . 2 ' l
hty= 7 F [ ix-pay ]+ atE{(x-}:,\)w-yq)pEm-ru‘]g
P\(t): £20 657+ a2 vl X,¥y1 + d“;'

° Twe qua&m\ic. Quuc\i'eu h(t) covves poud s to Fug @-K,,pcml

velue ed o V\muwtauﬁ‘ve ravlow variable , and | thzm@m,

(3 greatey thoam gy equaﬂ b O Qov mvtj ne

o'l t.

Wi ble vilue

L 2 _—
o@hz 4 Ceufx,y] -L‘{é"xzé“\[ (Duevimipaur e Mg ) }

—

e '\’l,(u}, hiH must have Qi Geask SUE peiitue (o0t w kit

. . 2 :
Oy savisbiel wheu Ahae = Ho(CoulXvl~aleg” ) ¢

3 |
1__&&‘ o oy 8w= (CooLx,\(l—ha’,)(cwix,wh-a;dq) L

a[+¢ - [ - @+ - Cx &y £ Cou LXK, M 14+ xy =

14 G LX< v A af-1ep < vl




’ [H#3
o Tue sigu of e dluvimivout Luuwcriow AN cau tale

A ' . . l
e oo Aw = T:T‘-at{ -5 LS«‘SV\ Lo = sigufaiy
x —

Eu’z CPxy =1 ) ( Pry +1i

e TMQVQ‘Q\D‘M‘L, W han \Px\d\ A = LA‘V«’ ‘lo

o That vy, ‘pmj‘ =4 i( awvd 0\“0% f:e he) hes o smglc Youvte

® D@(“ Siwie g(x-}‘x)t’F(Y“Pw)nizzw

J

Ewe expecred valye l‘\tﬂ‘ E[i(x P%)tfw \"“’}2.]
' aud ouly 4

. 2
2 [{W'-P»Hr(\l*}/q)}zal - 1 &

P L (x-partt Cy-py) -m

*
o We howe Hagb x"é“}*'xf-i-‘hf(q-:o S
A

Y =-20X 4Py TPy =

o = —‘t*
B = Ehxtpy

eTuy yiepds twes P Y=axsp] =



® The uwique ot o e quadianc Quucriow will he g s ni L_X

tt R Covilix, 4] i\rA—; L Gov (%11
2 &xt g

]

3 Ju ¢cuig (03¢, we hone et ¢ o = -4 = —==7 =3

T
£ 0 . B Covimyl . '
QM Lexl = mgm[_i}_?'_] - S‘a'jﬂ[(oviuﬂl
x

= Sign{ Pl



